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#h R E S X(m) Y (m) hE AL S X(m) Y (m) e EES X(m) Y(m) R EES X(m) Y(m)
Y-1 ~6966.66 | —113708.22

Y-2 -6963.19 [ -113701.50

Y-3 ~6961.89 | —113698.98

Y-4 -6961.64 | —113698.49

Y-5 -6960.60 | —113696.84

Y=6 ~6958.84 | —113695.49

Y-7 -6956.25 | —113693.94

Y-8 ~6952.94 | —113692.80

Y-9 ~6948.10 | —113692.09

Y-10 -6950.35 | —113696.01

Y-11 ~6952.52 | —113699.12

Y-12 -6953.97 | -113700.98

Y-13 -6956.15 | -113703.67

Y-14 —6961.47 | —113710.26
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h SRS X(m) Y(m) h = EES X(m) Y (m) e EES X(m) Y(m) R EES X(m) Y(m)
R-1 -6963.21 | —~113701.55

R-2 -6963.19 | -113701.50

R-3 -6961.89 | -113698.98

R-4 -6961.83 | —113698.87

R-5 -6955.02 | -113702.29

R-6 -6956.13 | —113703.65




